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PAPER-II
HISTORY
Signature and Name of Invigilator
1. (Signature) OMR Sheet NO. 1 .oooiiiiiiiiieeeee e
(Name) (To be filled by the Candidate)
2. (Signature) Roll No.
(Name) (In figures as per admission card)
Roll No.

J LKy 1]2

Time : 1/, hours]

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of | 1.
this page. 2.

2. This paper consists of fifty multiple-choice type of | 3.
questions.

3. Atthe commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an
open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.

(i) After this verification is over, the OMR Sheet Number | ,
should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below
on the correct response against each item.

Example :

where (C) is the correct response. 5.

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Paper I Booklet only. If you mark
at any place other than in the circle in the OMR Sheet, it will

not be evaluated. 6.
6. Read instructions given inside carefully. 7.
7. Rough Work is to be done in the end of this booklet. 8.
8. If you write your Name, Roll Number, Phone Number or

put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.

9. You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry
duplicate copy of OMR Sheet on conclusion of examination. | 10
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HISTORY
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)
marks. Attempt all the questions.

Which one of the following pairs is not
correct ?
(A) Lower Hunting,
Palaeolithic gathering
(B) Upper Hunting,
Palaeolithic gathering
(C) Mesolithic Hunting,
gathering
(D) Neolithic Food
Production
Match the List-I with List-II and select
the correct answer from the codes
given below :
List -1 List - I1
(a) Sarai Khola (i) Haryana
(b) Tarkhanwaladera (ii) Pakistan
(¢) Kunal (ii1) Rajasthan
(d) Shikarpur (iv) Gujarat
Codes :
@ ® © @
A) () (i) Q) Q)
B) (@) (G (i) (1v)
© G (v Gi) ()
D) @© G) >GAv) (i)
Which one of the following pairs is
correct ?
(A) Rock shelter Langhnaj
(B) Microlith Mahadaha
(C) Site associated Lekhakia
with butchering
(D) Stone tool Isampur
workshop
Match List-I with List-II and select the
correct answer from the codes given
below :
List -1 List - II

(a) Rigveda
(b) Yajurveda
(c) Samaveda

(i) Vajsaneye
(i1) Shakala
(ii1) Shaunaka

Match List-I with List-II and select the
correct answer from the codes given
below :
List-1 List - 1I
(a) Digha Nikaya (i) Dhammapada
(b) Khuddaka (i) Mahapari-
Nikaya nibbana sutta
(c) Vinayapitaka (iii) Kathavastu
(d) Abhidhamma- (iv) Khandhaka
pitaka
Codes :
@ (b (© @
A) @G) 1) av) (i)
B) (@) () av) (@D
© @@ @y @) @(4v)
(D) @) @v) ) (@

‘Indica’ of Megasthenes was preserved
in later Greek accounts. Which one of
the following Greek travellers’ account
is not associated with ‘Indica’ ?

(A) Ktesius

(B) Strabo
(C) Arrian
(D) Pliny

Which one of the following pairs is not
correct ?

(A) Rock Edict Sarnath

(B) Minor Rock : Bahapur
Edict

(C) Pillar Edict : Rampurva

(D) Minor Pillar : Sanchi

Edict

Which one of the following

administrative structure in ascending

order is correct ?

(A) Dronamukha,
Samgrahana, Karvatika

Sthaniya,

(d) Atharvaveda (iv) Kauthum

Codes : (B) Sthaniya, Karvatika,
@ @® (© @ Dronamukha, Samgrahana

A @ @av) (@) @1 (C) Sthaniya, Dronamukha,

B) @Gy @G (@Gv) (i) Karvatika, Samgrahana

<G @ @) Gy @Gv) (D) Sthaniya, Dronamukha,

D) ai) @av) @ (a1 Samgrahana, Karvatika
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10.

11.

What is the correct chronological order
of the following ?

(a)  The Periplus of the Erythrean Sea
(b)  Cosmos Indikopleustes
(c)  Geography of Ptolemy
(d) Indica of Megasthenes

Choose the answer from the codes
given below :

A @ by (© @
B) @ (© (@ (b
© @ @ (© (b
D © @ @ (b

Match List-I with List-II and select the
correct answer from the codes given
below :

List -1
(a) Agathocles
(b) Kadphises I

(¢) Vimakad-
phises

(d) Kanishka I
Codes :

@ b © @
A) @G @ (@v) (i)
B) @ av) (@1 (i)
© @) @ a) @)
D) (Gv) (i) a) (@

List — 11
(i) Buddha
(i1) Samkarshana
(ii1) Atash

(iv) Shiva

Which one of the following evidence is
not the correct evidence of Ramagupta
in later period ?

(A) Manasollasa of Someshwara

(B) Shankararya’s commentary on

Harshcharita

(C) Majmat-ul-Tawarikh of Abul
Hasan Ali

(D) Sanjan Tamrapatra of
Amoghvarsha

Latest Sarkari Jobs, Govt Exam Results
Vacancies and updates on one click

12.

Given below are two statements, one is
labelled as Assertion (A) and the other
is labelled as Reason (R)

Assertion (A) The majority of
peasants in the Post-Gupta
Period were considered to
belong to Sudra Varna.

Reason (R) : A large scale
incorporation of tribes into caste
system started taking place from
the Post-Gupta Period.

Read the above statements and select

the correct answer from the codes

given below :

Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation of
(A)

(B)  (A)is correct, but (R) is false

(C©) (A)is false, but (R) is correct

(D) Both (A) and (R) are false

Which one of the following collection
of hymns of Alvar poetry collected by
Nathmuni ?

(A) Periyapuranam

(B)  Tirumurai

(C) Nalayira Divya Prabandhan

(D) Tiruttondal Tiruvantati

Identify the dynasty to which Queen
Rudramadevi belonged to

(A) Chalukyas of Badami

(B) Pandyas of Madurai

(C) Kakatiyas of Warrangal

(D) Eastern Chalukyas of Vengi

Match List-I with List-II and select the
correct answer from the codes given
below :

List -1 List - I1
(a) Kirtivarman (i) Vatapi
(b) Simhavishnu (ii) Tanjaur
(c) Dantivarman (iii) Kanchipuram
(d) Vijayalaya  (iv) Manyekheta
Codes :

@ (b (© @
(A) (v) @) (@) (@)
B) () @) av) (@D
©) @) @@ a) @)
D) () (i) aGv) (D)
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11.

fr=Teiad 1 Tel ey 1 & 9
(a) T URTIT 3% T URiyE 9
(b) FHH IUSHTAT

(c) Tt St ST

(d) TS @ g

7 e ° ¥ WEl W g

A @ b (© @

B @ @© @ ®

© @ @ (@© (®

D © @ @ (®)

T - 1 g - 11 § GEfed HT ST
ST 7T e F T TEl ST B T BN

e -1 e - 11
() FAMEEAS () 5
(b) FHEHEAT I (i) Hepuor
(c) Tomsefrad (i) 2%sT
(d) =T=H1 (iv) o=
T

(@ () (© (@
A) aG) @ >Gv) (i)
B) @ Gv) (@>i) (1)
© i) @ () @)
D) Gv) @) () (@)

frefafed @l & & A @ a9
Tt et T el § 2

(A) GHIAY T HHEAH e

(B) @UdRd WX Yo i il

(C) 31l 899 3Tell & Oo/|d - 3o
TR

TTEEY ST AT
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(B) ferem¥

(C) AR 5 vae
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TEATET g S97 AT o, TedY
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(B) I % MU

(C) TRITA % HIh
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2T T e ¥ T IR H T W

| = - 10
(a) Hifdam= (i) amamy
(b) Tafom (ii) TSR
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E T
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16. In which one of the following ancient 20.
literary works a separate section of
painting is found ?

(A) Panchasiddhantika

(B) Vishnudharmottara Purana
(C) Panchatantra

(D) Natyashastra

17. Which one of the following was the
revenue officer of the Chola dynasty ?
(A) Aulnayak
(B) Sherundaram
(C) Varitppottagakka
(D)  Perumakkal 21.

18. Which of the following statements are
not correct ?

(i)  After Balban’s death his son
Bughra Khan assumed
sovereignty in Lakhnauti

(i1)) Alauddin Khalji extended his
authority to Bengal

(ii1) Ghiyasuddin  Tughlug made
Bengal part of the Delhi
sultanate in 1324

(iv) Firuz Shah Tughluqg invaded
Bengal twice during the reign of
Shamsuddin Iliyas Shah.

Select the correct answer from the

codes given below :

Codes :

(A) () (i) (@1v)

B) () (iv)

(©) (1) (i)

(D) (i) (iv)

19. Match List-I with List-II and select the
correct answer from the codes given
below :

List - I List — 11

(a) Shaikh Moinuddin (i) Delhi

Chishti 22.

(b) Shaikh Bahauddin (ii) Ajodhan

Zakariya
(¢) Shaikh Farid-ud-din (iii) Multan
Masud Ganj-i-
Shakar
(d) Shaikh Nizamuddin (iv) Ajmer
Auliya
Codes :
@ ® © @

(A) (i) (@v) d) (1)

B) (i) G) Gv) ()

© (v (i) () ()

(D) av) (1) @Gi) (1)

Who termed the dominion of Sultan
Muhammad Tughlaq as ‘Hind and
Sind’ ?

(A) Ziyauddin Barani

(B) Abdal Malik Isami

(C) Ibn Battuta

(D)  Yahia-bin Ahmad Sirhindi

What measures were adopted by
Mahmud Gawan to curb the power of
the Bahmani Nobles ?

(i) He reduced the size of their
estate

(i1))  He increased the amount of land
classified as royal domain

(i11)) He forbade governors from
controlling more than a single fort

(iv) He enhanced the rate of land
revenue demand.

Select the correct answer from the
codes given below :

Codes :

A) @ av) (i)
B) © G (i)
©  Gi) @Gv) (i)
D) O @) Gv)

Arrange the following in correct
chronological order :

(i)  Chaitanya (ii) Eknath
(i11)  Surdas (iv) Tulsidas
Codes :

A) a) (@ (> 3Gv)
B @O G @>@) @Gv)
© O Gy @Gv) (i)
D) © @) @) @)
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17.

18.

19.

fr=ifera wTeie AMfefeaes Tt § ¥ fRaw
Terehet af~d U T oraa € 2

(A) UarEEIE

(B)  farmopersiert aror

©C) dYga=

(D) HARIRTHA

<

frfafad 5 9 9t 597 o1 T ARy
I 91 ?

(A) oS

(B) 3=

~

(C) AR

(D) UEHERA

frferfad ol ¥ ¥ 5 T o S & 2

(i) FofeH W g F WA I9H [T
PR G F TEA § e T
gROT i |

(i) TSR fEerstt 3 3o Hxm
et T farga o |

(iii) T 1324 H FRERER ok o amer
1 fgeet! GooHd | faer o o |

(iv) gL SforaTd SE & e et §
fRRIST 918 qTetsh = ST WX &1 IR
STHAOT T |

1 el & ¥ WEl e H =T Hi

ETE

(A) (i) @i (@{v)

B) (1) (v)

(C) (@) (i)

(D) i) @(v)

Al — 1 B G — 11 T AT HINT 3

7 e ¥ T IR 1 T AT
i | = - 11

(a) 99 g fawdt (i) feoelt

(b) G TETSEA ARNAT (i) ITAE

(c) AW HIEATGT  (iii) T

T - T - 9T
(d) ¥ FmER Siferr  (iv) IR

YA

(=N

@@ () (© (@
(A) (i) (@Gv) () (1)
B) (i) @) (Gv) (1)
(©) Gv) (i) () ()
D) Gv) () 3G ()
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22,
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(A) s s

(B)  31s3c Hicieh SqHi

(©) T

(D) afean fo arewe farfeat

TEHg Tt o SEn-T SR a7 i ik 0
3TN T o feTT 9T SEH 32TT 2

(i) T g FEHl % HR H HH
X

(i) S TG & Ty AeR &7 9
3T aTet o &3 T foreget oo

(il) IEF TR H T G A fover

TR =0T T Wt STAR el
(iv) 38 YT o i 3T H ST e |
=7 el O ¥ Tel IR A1 T2 DI
T

A @ Gv) (i)
B) O @) (i)
€ (Gi) Gv) (D)
D  ® @) @)

frAfafEd = T8 FEHAITaR SFarerd
T -

G) T (i) THE
(i) &= (iv) qeraRT
E T

A) a) (@ (> 3Gv)
B @O G @>@) @Gv)
© O Gy @Gv) (i)
1) (@) (@) @Gv)




23.

24.

25.

26.

27.

Given below are two statements, one
labelled Assertion (A) and other
labelled Reason (R).

Assertion (A) : In military terms
Firuz Shah Tughluq’s reign was
undistinguished

Reason (R) : He could not subjugate
the ruler of Nagarkot

In the context of the above two

statements, which one of the following

is correct?

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but
(R) is not the correct explanation
of (A)

(C) (A)is true, but (R) is false

(D) (A)is false, but (R) is true

Who described the Mughal imperial
Harem as the ‘Pavilion of chartity’ ?
(A) Nizamuddin Ahmad

(B) Abul Fazl

(C) Gulbadan Begum

(D)  Abdul Hamid Lahori

In the Mughal System  of

administration, Mir Bakshi was

(A) Commandar-in-chief of the
Mughal army

(B) Incharge of the imperial mint

(C) Minister-in-charge of Treasury

(D) Paymaster General

Which of the following social reforms

was not introduced by Akbar ?

(A) Legalization of
remarriage

(B) Registration of marriage

(C) Total ban on the practice of sati

(D) The age of circumcision was
raised to twelve

widows

Which of the following statements is true ?

(A) In Mughal India, cultivation of
indigo was confined to the
provinces of Delhi and Agra

(B) Madad-i-Maash grants were
made hereditary by Aurangzeb

(C) Altamgha Jagirs were made
transferable by Jahangir

(D) Kashmir was brought under the
zabti system of land revenue
assessment.

28.

29.

30.

Match List-I with List-II and select the
correct answer from the codes given
below :

List - I List — 11

(a) Maasir-i- (1) Motmid
Jahangiri Khan

(b) Igbalnama-i- (ii) Saqi Mustaid
Jahangiri Khan

(c) Maasir-i- (ii1) Khwaza
Alamgiri Kamgar

Ghairat Khan

(d) Futuhat-i- (iv) Isardas
Alamgiri Nagar

Codes :

(@ () () ()

A) (1) @) (a1 (Gv)

B) i) @) Gy (Gv)

© @Gy @) @ aGv)

D) @ Gy > 3Gv)

Arrange the following events in

chronological order :

(1)  Mughal occupation of Balkh

(i)  Introduction of the system of
month proportion

@i11) Extinction of Nizamshahi

(iv) Treaty of the Mughals with
Bijapur and Golkunda

A) G ) Gv) @)

B) i) ) 1) (Gv)

©) Gv) (i) a) @)

D) Gy av) @@ (i)

Arrange the following in chronological

order :
(i)  Prince Akbar’s flight to the

Deccan

(i1)) Conquest of Golkunda by
Aurangzeb

(iii)) Capture of Chitagong by Shaista
Khan

(iv) The institution of Khalsa by
Guru Gobind Singh

Select the correct answer from the
codes given below :

Codes :

(A (@) Gi) G @[v)

B) @) @ G (@{1v)

© ) @Gv) @) @

D) @ (@) @v) (i)
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23.

24,

25.

26.

27.

e 31 g KU T E, T W A (A)

3T TE I HROT (R) Fal T &

FUA (A) : T 3T O TR0 oe eTsh
T MG (AR o7 |

HRUT (R) : I8 TR & IMEH Hl 307

ST A T 3THA T |

SWIe Fol &% Gl d T ° @ B |

O TE T 2

E T

(A) (A) 3R (R) TAT I & 3T (R)
(A) T TE AETE |

(B) (A) 3R (R) IH1 A &, wifeh (R),
(A) Sl TEl AT TE € |

(©) (A)TTE, dfeeT (R) T & |

(D) (A) TA ¢, ABT (R) TA T |

Tohesh FEAMER T &0 Hea T &

U’ o1 9

(A) SRR sRHR

(B) 3T T

(C) TeEET™H
(D) 3151 gHIS e

Tl T e e AR 1

g o 2

(A) T BT T WG T

(B) W&l THATA H

(C) TSI T TR Ht

(D) VS AR

frfafed & @ %9 & qHEE gE9R

3Tha GRT el fefal T 2

(A)  fawar faame = aEdn ugE S

(B) foame =1 dsireeon

(C) ool - W 9X gl Hfcawy

(D) @AT HA B G FHT IRE qT
HIAT

FfeTiad & & &9 9 29 9 ¢ 2

(A) TR 9RG § el e
feeedt e SATRY U ek FifHe o |

(B) UST - U HI FEHI Hl ST
ST T T2 |

(C) AR 3 oamwm SRl &
TTAROT i Tl 3RET i |

(D) HIFER T o T (URoT S
TOTTEAT <l o femam T |

28.

29.

30.

G-I & G-I § gAfed S v e

Fel T el 3T H T HINT
e -1 et - 11

(a) AFER-T- (i) HamsEH
STRRTRY

(b) THATA AMI-T- (i) TR GAAT
SRR =

(c) AER -T- (iii) TS HHT
AR Ra@™

(d) HPE-T-  (iv) 3EEW AR
AR

B

@@ b © (@
A @ @) () 3@v)
B) @) @ () ()
© G @) @@ 3Gv)
D @ @ 3>)  3Gv)

T eTal & e FIowhd H et
I -

() TN gl W AHHR

(i) TTEERI QA YOTer S TRy
(iil) TSR % 37

(iv) ISR Ta MeThel & qiett i |fy
A) @) G G @

B) @) ) @ (1)

©) @(v) (i) () @

D) () Gv) @O (i)

frAffiga =1 W@ Femh % SFTER
AT EI%%‘I'Q' :

(i) VESR 3THeR H FHFA JolTd
(i) ST ERT Merghel i foTa
(ili) IMEEARET S AT W RS
(iv) 7% MEERE §RT STeTETr St T
=7 el O O Tl TR A1 T RIS
E T

A) (@ (@) (i) @Gv)

B) (i) @ G @(Gv)

© @) (Gv) @) @)

D) (@) @) Gv) (@D
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31.

32.

Given below are two statements, one is
labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : The English East India

Company  eliminated their
Portuguese and Dutch trade
rivals by the end of the

Seventeenth century.

Reason (R) : The English traders sold
goods of superior quality at
cheaper rates.

Read the above statements and select

the correct answer from the codes

given below :

Codes :

(A) Both (A) and (R) are true, and
(R) is the correct explanation of
(A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation
of (A)

(C) (A)is true, but (R) is false

(D) (A)is false, but (R) is true

Given below are two statements, one is
labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : The number of Rajput
Mansabdars declined in the
Mughal nobility during the
second half of Aurangzeb’s reign.

Reason (R) Aurangzeb assigned
large number of Jagirs to nobles
from the Deccan.

Read the above statements and select

the correct answer from the codes

given below :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A)

(B) Both (A) and (R) are true, but
(R) is not the correct explanation
of (A)

(C) (A)is true, but (R) is false

(D) (A)is false, but (R) is true

Latest Sarkari Jobs, Govt Exam Results
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33.

34.

3s.

Match List-I with List-II and select the
correct answer from the codes given
below :

List -1 List - 11
(Book) (Author)

(a) Indian Painting (i) Ashok
under the kumar Das
Mughals

(b) Architecture of (i) Moti
Mughal India Chandra

(c) The Technique of (iii) Percy
Mughal Painting Brown

(d) Mughal Painting (iv) Catherine
during Jahangir’s B. Asher
Time

Codes :

@ b © @

(A) @) @) (@) (Gv)

B) i) (@) Gv) @)

© (Gv) () @) GiD

D) @) av) G) @)

Consider the names of the following

Mughal Emperors of the Eighteenth

century :

(1)  Alamgir II

(ii))  Ahmad Shah

(ii1) Jahandar Shah

(iv) Muhammad Shah

Which among the following sequences

represents the correct chronological

order ?
A) G () Gi) (i)
B) @ @) @) (v

©) i) av) a) @)

D) @G @Gv) @ @)

Given below are two statements, one is

labelled as Assertion (A) and other is

labelled as Reason (R).

Assertion (A) : The 1857 Mutiny was
suppressed by the British

Reason (R) : Except for a few like
Rani of Jhansi, a very few
Indian rulers participated in the
mutiny.

Read the above statements and select

the correct answer from the codes

given below

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A)

(B) Both (A) and (R) are true, but
(R) is not the correct explanation
of (A)

(C) Both (A) and (R) are false

(D) (A)is true, but (R) is false



31.

32,

e 31 g KU T €, T W A (A)

31T TAY T HRIT (R) el T & -

FUT (A) : TTRedl VARl F I qH
TeTeT T Sred FHEAN A Yol
3R T ARG WAgr5al i 70
T 9 e T |

FHRUT (R) : ™ AWRT 3T HiC F
ATeT G 30 W & |

SRR HET AT SR A KT T Fe

T ¥ T S A T4 HieH

B

(A) (A) &R (R) 3H T & 3R (R),
(A) H TE AT E |

(B) (A) &R (R) I T &, b= (R),
(A) T TE AT T T |

C©) (A)TEE, FIR)ITIE |

(D) (A)TAE, fFIR)TIE |

e 1 TR ST T §, TH HHAT (A)

3T T I HROT (R) F&l T &

AT (A) : ST & IMHTHA & I
H Yot 3R a1 § ST FAaRR
! G HH 3T |

FHRUT (R) : S T TahT T T 3THRT
T TS T H SN UG 6 |

SRR F2 H ey S A KT T Fe

T F T8 S H T4 B

(A) (A) 3R (R) I W & 3R (R),
(A) F T AT |

(B) (A) 3R (R) I Wl &, fFq (R),
(A) Tl T8l AT T ¢ |

(C) (A) W& €, Wl (R) T T |
(A) 8@ 8, ] (R) T & |
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33.

34.

35.

Tt — 1 G — 11 ¥ GAferd e iR

T e T T TR B T Hio
T -1 = - 10
(T=TF) ()

(a) Wﬂﬁ%ﬁm i) mw

(b) ﬂngé?%rm (ii) nﬁ?ﬁaa'

(c) ﬂgf C EHEB 3ATH (iii) o ST

Wﬁg@q&n R
(d) 7T (iv) .
- STenTRST 2rsH WR

~

(@ () () (@

(A) @) @ (@) (av)

B) () @) @v) (@)

(C) (v) (i) (@) (iD)

D) (i) @Gv) G (@)

3SR IR % el FHTET o AH U

%ﬁl’l’(ﬁﬁ?:

() 3R fgda

(i)  3TEHEE

(iii) STERR A’

(iv) ¥EHT 3@

=1 & ¥ BF A1 ATHY FE BleTRd B

TSI el & 2

A) () @ @G 3Gv)

B) @ G Gi) 3(v)

(©) (i) Gv) Gi) (@)

D) (i) Gv) (G 3D

9 S o G T €, Uk o AW AR

(A) 3R T H HRT (R) @ mr e

AfWHHT (A) ¢ 1857 & fomie = fafewr
FRT A Y S T e |

FROT (R) : T &I BIg N o4 fF
I, TgA FH GRA IR A
=g fagie ¥ 9 feran |

I FOF W Ug SN A I Hd A

HET 3T 1 TIT i

E T

(A (A) 3R (R) FH & € 3R (R),
(A) i TEl AT T |

(B) (A) &R (R) TH ¥ & R (R),
(A) &I TEl AT T E |

(C)  (A) 3R (R) I frear & |

(D) (A)TF &, R (R) e & |




36.

37.

38.

39.

Given below are two statements, one
labelled as Assertion (A) and other
labelled as Reason (R).

Assertion (A) : Dr. Annie Besant
organised the Home Rule
Movement against the British
Rule.

Reason (R) : She wanted to organise
all sections of Indian people on
the basis of a single political
slogan above religious
consideration

Read the above statements and select

the correct answer from the codes

given below

Codes :

(A)  (A)is correct, but (R) is not correct

(B) (A)is not correct, but (R) is correct

(©) (A) and (R) both are not correct

(D) (A) is correct and (R) is the
correct explanation of (A)

In which year did Robert Clive
accepted the Diwani of Bengal, Bihar
and Orissa from the Mughal ruler.

(A) 1761

B) 1765
©) 1778
(D) 1781

The Treaty of Bassien (1802) was
signed between :

(A)  the English and Peshwa Baji Rao II
(B) the English and Tipu Sultan
(C) the English and Holkar

(D) the English and Gaikwad

The Home Rule Movement started by
Annie Besant aimed at :

(A) boycotting foreign goods

(B) educating the Indian Masses

(C) attaining self-rule for India

(D) agitating against the British
Monopoly in administration
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40.

41.

42.

43.

44.

Which of the following is the correct
chronological order of the English East
India Company factories established in
India ?

1) Surat (i1)) Masulipatnam
@ii1) Hugli (iv) Balasore
Codes :

A @ @) 3> @v)
B) aG) @ (Gv) (i)
©) i) Gv) @) (D)
D) Gv) (i) @) ()

Who was the first woman President of
the Indian National Congress ?

(A) Sarojini Naidu

(B) Annie Besant

(C)  Sucheta Kripalani

(D) Madam Cama

Who wrote Poverty and Un-British
Rule in India ?

(A) Dadabhai Naoroji

(B) R.C.Dutt

(C) Charles Wood

(D) M. N. Roy

August 8, 1942 is important in Indian

History for

(A) Formation of Indian National
Army by Subhash Chandra Bose
at Singapore

(B)  Cripp’s Proposals for Dominion
status

(C) Non-co-operation Movement
launched by Mahatma Gandhi

(D) Quit India Movement launched
by Mahatma Gandhi

Which is correctly matched :

(A) “Do or Die” — Jawaharlal
Nehru

(B) “Swarajismy — Mahatma
birth right” Gandhi

(©) “Give me — Subhash
blood, I will Chandra
give you Bose
freedom

(D) “Independence - B. G. Tilak

through non-
violence must
be our aim”
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37.

38.

39.

9 < Fe T €, U A ST

g)aﬁr@aﬁw@)wmﬁmw

AfFHHT (A) : ST U 99 7 fafewr
I & Ty RIS I SRl
e T |

HROT (R) : € WA I ST o T 5
H Ufe T 9 IW THA
ToFIfaed AR & YR W Eed
AT T ot |

YIS SHT e A e 3 A 5T Fed

H I A T i -

E T

(A)  (A)HE &, T (R) Tl Tl & |

B) (A)FE &l &, W R)TE T |

(C©) (A) 3R (R) I &l & € |

(D) (A) T & 3R (R), (A) o T
AT T |

e FAEd § Tt ek § e, foer
AR nfedr & ot 69 a9 4 WiHR &
off 9

(A) 1761

B) 1765

© 1778

(D) 1781

afa T (1802) o5 - T o o g8 ot 2
(A) AT SR U SISt e 11

(B)  STfeTeT 31 Y oo

(C) ZuiersT 3R gloah]

(D) AT 3T MEHATS

Tl 99 gRT U foham T @RI 9
ST T A8 T T 2

(A) ToRe TqgeT & afeshr

(B) MR ST St oIfera sher

(C) 9RA & o3 TR U el

(D) WRMEA ¥ fofcwr wahiiusR & foes

40.

41.

42,

43.

44.

T A A FRT TG HREHT H
Ty § FEfatgg § 9 9 | Uideides
%A TEE 2

(i) (i) TgfeeT™

(iii) gl (iv) STATER

T

A) (@ () @) @Gv)

B) G (@ (v (ii)

©) (i) @Gv) @) (i)

D) (@v) (i) @) (i)

Frea T AT (YRA™ TASEE) Hidd 6 JIq

TfEeT 3TeeT i of 2

(A)  TISH g

(B) U IEE

(C) oIl Frerl

(D) HeH &M

qdon [epd (el ?

(A) TR RIS

(B) oW . 3d

(C) =d e

(D) TH WA IT

TRAT e | T 8, 1942 1 &

forer Tl Heargu € 2

A oF A g TR ° gread

) maﬁrﬁvaﬁw

(B) 3MufafTs =T & o o &
AT

(C) Were e FRT UReT feRar T
YA HI<TAA

(D) Wel TET FRT URRT feRAr TEm
HIRA 9lel Al

T a1 Tl dfera €

(A) “FA AW — STARIAA Te&

(B) “@RSTHIT  — HeleAT Tt
St g
PR &

(C) “HHA AL, — IS g
#qe
A= 3

(D) “aIfEar &
SR =T
TART 18

— oS faee

AR AT B e
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45.

46.

47.

Match List-I with List-II and select the
correct answer from the codes given
below

List -1 List - I1
(a) Freedom at (i) Collins and
Midnight Lapierre
(b) The Story of (1) C.P.
the Integration Ramaswami
of Indian States Iyar
(c) Travancore (iii) V. P.
Dewan Menon
(d) Secretary of (iv) Pethick-
State Lawrence
Codes :

(@ () () (d
@A) O @) @@ @v)
B) () G @ (@v)
© Gv) i) @) @)
D) () av) @) @)
Which of the following is the correct
chronological order of the Viceroys ?
(i)  North Brook

(ii) Minto

(iii) Linlithgow
(iv) Mayo
Codes :

A) @Gv) @O >G) (i)
B) @) (i) @G @)
© O @ a>) @v)
D) i) Gv) () (@)

Arrange the following into sequential
order and select correct answer from
the codes given below :

@) St. Thomae war

(i1))  The Pindari war

(ii1) Buxar war

(iv)  War of Chandurthi
Codes :

A @ @v) @) (@)
B) @Gv) @) ) (@
© O ay 3> 3(4v)
D) Gv) () () (@

48.

49.

50.

Match List-I with List-II and select the
correct answer from the codes given
below

List - I List — 11
(a) Col. Tod (i) Memoir of
Central India
(b) John (i1)) Annals and
Malcolm Antiquities of

Rajasthan
(c) C.R. Wilson (iii) Historical
Sketches of

South India
(d) M. Wilks (iv) Early

Annals  of

the English

in Bengal
Codes :

@ (®) © ()
Ay @) @) (Gv) (i)
B) ) @) Gv) (@)
©) @ Gv) @) (i)
D) G @O G 3Gv)

Match List-I with List-II and select the
correct answer from the codes given
below
List -1 List - 1I

(a) Punjab Tenancy Act (i) 1883
(b) The Ilbert Bill (i) 1868
(c) Hunter Commission (iii) 1921
(d) Chamber of Princes (iv) 1882
Codes :

@ ® © @
A) aG) @ai) @ 31v)
B) @ Gy (Gv) (i)
©) (Gv) @) (i) ()
D) @) @ >Gv) (i)

Chronologically arrange the following
schools of historical thought as
emerged at different points of time

(1)  Enlightenment Historiography
(i1)  Church Historiography

(iii)) Annals Historiography

(iv)  Subaltern Historiography
Select the correct answer from the
codes given below :

Codes :

A) O Gi) Gy (i)

B) @) @) @) 3Gv)

© @G @ (@) (1v)

D) @ @) (>Gv) (i)
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T -1 ~1I

(a) e U e (i) Hifeg uws
AT
(b) 3 W 3w I (i) IR
s .

3 IR
FeTe ey
(c) TEMHRSEE (i) A
(d) Thedt AR (iv) U =
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@ b © @
(A) (@) Gi) G Gv)
(B) i) () @O Gv)
© (Gv) @) a) (@
D) () (Gv) () (@
FreifeRe STEERTET ST Wel HIeTIshiHh HH
FTE 2
i) IR
(i) eI
(iii)  femtorer
(v) ==
E T
A) @Gv) (1) @) (i)
(B) G Gi) @) Gv)
© @ @G @) Gv)
D) @G) Gv) G (@
frfetfad @ FIaR SFafed #d g
fgu T e # ¥ TR SR g :
() ITIWIF
(i) TedIm
(iii) TR IF
(iv) =i 3=
E T
A) @) (v Gi) G
(B) (@v) i) () @)
© O ay > 3(4v)
D) Gv) () () (@
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48.

49.

50.

T - 1 G — 11 & 91 gafera sifser
3R A 53 T H W WE W W T

HifeTd -
= -1 ~-1I
(a) T T (i) ﬁ'ﬂ'{'m
) Tzt e
(b) STH AT (i) TIT® U
ufefeade @
ST
(c) FRfaea (i) it
WHEg

SN
I Sea
(iv) a%gw

3E
W%ﬁ
A

(d) Tm. foewg

E A

@ @ @© @
(A) @G @) (@Gv) (ib)
B) () @G Gv) @)
© @ @Gv) @i (b
D) Gii)y @) () Gv)
TEr — 1 T gt — 11 % 91 gaferd i@
3R I T FA ¥ el IW B TAT
it -

-1 =it - 11

(a) qwq%ﬁ-«ﬁ T (i) 1883
(b) Tz foe (i) 1868
(c) & A (i) 1921
(d) TR T TEE (iv) 1882

@ ) © @
(A @y i) 1) (1v)
B) (@ (@) (@v) (i)
(©) Gv) () (i) ()
D) Gy @ (@v) (i) .
frefaiad foemere s efe-e/em 99 |
W TR E 3¢ FHHIR AT hito -
(i) UEeTHe fesiRamTs
(i) =9 EEREmE
(i) T fEEIETR
(iv) HeTee e
1 e ® ¥ Wl W g -
E T
(A) () @) @[dv) (D)
B) G Gi) G Gv)
© Gy @ 3>i) @(v)
D) @ @G) @Gv) (i)
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